05.19 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

5.'19




Ne B Ne o
HanmenoBanue [Ipumeuanue

pPHCYHKE| KaraJory

001 | 4436120510 |[Knanman curnana

002 | 3119013060 |Kosblio YyIIIOTHUTEIBHOE 12 x 16 CSN 02 9310.2

003 | 3194110340 [l'opnoBuHa Js 5 CSN 13 7850

006 | 2054471674 |Ckoba TpyOku

007 | 3091109790 |bont M8 x 16 ISO 4017 - 5.6 MKS 720

008 | 3111108840 |[llaiiba npy>kuHHAs 8 CSN 02 1741.05 MKS 720

010 | 3091113500 |boaT M10 x 22 1SO 4017 - 5.8 MKS 720

011 | 3111108850 [[llaiiba npy>kuHHAs 10 CSN 02 1741.0 MKS 720

012 | 4439990380 |[lep:xarenn TpyOOK 22 089 00291

013 | 3091113310 |bont M8 x 25 ISO 4017 - 5.8 MKS 720

014 | 3111108840 |lllaiiba npyxuHHas 8 CSN 02 1741.05 MKS 720

015 | 4436121090 |I'omoBKka coenuHEHUs 443 612 386 001

016 | 3119013240 |KoipIl0 YIUIOTHUTEIEHOE 22 x 27 CSN 02 9310.2

017 | 4436111140 [IITynep ABOHHON 03-4026.06

018 | 4436121030 |l"o;moBKa cOeTMHEHHS 443 612 387 700

022 | 4436120350 |PerynsiTop Harpy304HbII 443 701 0200

023 | 2052520124 [T"aiika

024 | 2053740044 |T-TpouHHUK

025 |4436111120 [IITynep ABoHHON CM 4026.05

026 | 3119013240 |KoibI10 YIUIOTHUTEIHEHOE 22 x 27 CSN 02 9310.2

028 | 3194110340 [I'opioBuHa Js 5 CSN 13 7850

029 | 3119013060 |KoibI10 YyIUIOTHUTEIEHOE 12 x 16 CSN 02 9310.2

030 | 4438520250 |[THeBMOBKIIOYATEITH

031 | 3091109560 |bont M6 x 20 ISO 4017 - 5.6 MKS 720

033 | 3111105390 |[1laiiba 15 CSN 02 1702.1 MKS 720

034 |3111108870 |llaiiba npyxuHHAas 14 CSN 02 1741.05 MKS 720

035 | 3111100700 ["aiika M14 1SO 4032 - 5 MKS 720

036 | 3111108830 |laitba nmpyxuHHas 6 CSN 02 1741.05 MKS 720

037 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032

038 | 2029390354 |[epsxaTens Ki1anaHa BEpXHUN

040 | 3091109830 |bont M8 x 25 ISO 4017 - 5.6 MKS 720

041 | 4436410310 |Kpan >nMarHuTHBIN EV 838 CM

04la | 4436410310 |KpaH 31MarHUTHBINA EV 88 CM

042 | 2029390014 |Mydra knanmana

043 | 2029390344 |depsxaTenp KiaanaHa HUKHHUHA

044 | 3111108840 |[l1aiiba npy>kuHHAsI 8 CSN 02 1741.05 MKS 720

045 | 3111100610 |I"aiika M8 ISO 4032 - 5 MKS 720

046 | 4433210040 [I'ymox mHEBMaTHYECKUH

047 | 5482410160 |Ckoba co MIITUHTOM 5 CSN 02 2751.5

048 | 5482410330 |JlenTa 3axuMHAs 5 x 120 CSN 02 2757

050 | 3111100610 ["aiika M8 ISO 4032 - 5 MKS 720

051 |3111108840 |lllaiiba npyxuHHAas 8 CSN 02 1741.05 MKS 720

052 | 3091109790 |bont M8 x 16 ISO 4017 - 5.6 MKS 720

054 | 3091105710 |bont M8 x 35 ISO 4014 - 5.8 MKS 720




	05.19 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

